Provide the reagents necessary to transform the given starting material into the desired product.
If more than one synthetic step is needed, you must show the intermediate products formed.
It may help to begin with a retrosynthesis, but you are not required to do so.
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10 | Which reagents would be best to achieve the following synéhesis?

Br _—7, ~" ~~ 0o
AN — AT

11 P“’f’ L4
A,
o . e et
* ¢ B - -L("’:-':' w //'/f'.l’\vpbﬁ'ﬁ]bjc
m ?:) HC,-_:_C'.“ b-rﬁ/:" '\,W N
°

12 . O o oH
P . ,,4{\»\/]
L

W o
)",—j‘ T 7 Ll
= —7 k_/_/
anay nsip W ueGyinn wilul Q ISuvayiiuiGaio, UL yuyu aic vl 1gyuincu w uv ouv.
g M‘J o @




